Z:(3000) A MMLH  2:(3100) s 440 2| 5:(3120) B MEE HIEE: (3121) = A 2] ML : (120) 2 AR 2 | EENERREED
ni; = p) P! 2 5
Of &b of l @ o = p) x
X2 st ME L HIAIE = of & | = A" o
3000 [= 8,275,339 & 6,837,698 Xl 0 2 1,500,000]
Z H oK ey 65,441,256 46,855,877  18,585,379| [J1 1,518,098 = 454,244 1 0 ]
3100 [= 8,075,339 = 6,837,608 Xl 0 2 1,500,000]
NS TS 65,441,256  46,855,877|  18,585,379| [J1 1,518,098 = 454,244 1 0 ]
3120 [= 8,275,339 & 6,837,698 Xl 0 2 1,500,000]
ZLMEE 65,441,256 46,855,877  18,585,379| [J1 1,518,098 = 454,244 1 0 ]
3121 [2 308,745 = 2,858,733 X 0 2 0]
= A 15,350,822 11,282,736 4,068,086 [Jl 1,518,008 = 0 m 0 ]
100
2 A0 A 108,600 89,600 19,000
120
AR AY| 108,600 89,600 19,000
201
o Bre A Y| 36,700 32,700 4,000
29,200 25,200 4,000/01 Lered]
OPHAUES SHLUAYMASA AST JE = 4,000
202
o1 Hl 51,000 36,000 15,000
51,000 36,000 15,000(01 =LK 04|
oXM YREF BE2 = 15,000




Z:(3000) 2 HIJHLH]  2H:(3100) s 2= A 8:(3120) =34 E ME: (3121) =422 MIKIEE: (210) 2 ALY 2] [¢9FA]
i = J P! 2 5
Of &b of l @ o = p) x
a2 & NE L MAE =2 off &b oA = 4 ¢
200 [2 A308,745 & 2,839,733 X 0o = 0]
A Ol A 15,242,222 11,193, 136 4,049,086| [JI 1,518,098 & 0 m 0 ]
210 [2 A308,745 & A4 457 X 0 & 0]
BXAIY 9,826,343 8,621,447 1,204,896 [J21 1,518,098 = 0 0 ]
206
W] 492,043 498,030 N5,987 | o H SIS (RSHE) Ol 2ot
483,396,000 - 498,030,000 = A 14,634
(=) N 14,634
CNEENTAISRAY AL (LS A0 A = 8,647
(=) 8,647
307
0I2+0| & 765,296 0 765,296
765,296 0 765,296|02 QI2tAAE X
o CEEHAQIAHIXI K (L& &0l AH 124,000,0002)
= 247,803
(21) 247,803
o= AMEESSOIHYI XA (A MUl A = 517,493
(21) 517,493
308
XX SHS 4,324,087 3,302,756 1,021,331
ol




Z:(3000) B ROKEHI  2H:(3100) 52 AJH ] 8t (3120) S5 AEE N8t (3121) = At 2re) HIAIBt: (210) 8 E ALY Crol: &9l
ot =2 Dl 5 2 3|
of Ab o A = o] =
.2 E NS AAE =2 of  Ab oM =
4,324,087 3,302,756 1,021,331/01 MHXSHHBIAEES
CRNSASMIEMAIEAIS (HHY|)
13,288,0002 - 14,496,000 A1,208
(2) A1,208
o UL SATYAY 5,328
(%) 1,776
(21) 3,552
SXEIFSEINES:] 203,000,000 - 234,500,000 A31,500
(=) A21,000
(%) 10,500
ocIIEYAAY
,571,942,000& - 1,493,281,000& = 78,661
(2) 54,708
(%) 23,953
CNIBUNASOALBSHMUR2H (STl &) = 749,250
(1) 749,250
CARRMRIHINEHI = 220,800
(2) 147,200
(%) 73,600
403
MXSHS 4,244,917 4,820,661 NA575,744
A=01A




Z:(3000) B ROKEHI  2H:(3100) 52 AJH ] 8t:(3120) B4 AEE NIgt: (3121) = Atz HIAIBt: (210) 8 E ALY =GR
ot = o o o Dl 5 2 3| N = ) =
.2 E NS AAE = of & M = B o
4,244,917 4,820,661 NA575,744101 REXISHHI X222 X
CRSASMIENAHEAMS(RES)
808,268,000 - 1, 128,504,000 = A320,236
(2) N320,236
CoEARLHS BSAIA(13004)
2,240,049,0008 - 2,251,349,000& = A11,300
(2) A9,417
(%) A 1,883
o MH| N H XA X 451,350,0009 - 455,558,0008 = A4,208
(2) N2,805
(%) A1,403
oA 2IAlA = 240,000
(2) A 150,000
(%) 90,000
220
KERIAF 5,415,879 2,571,689 2,844,190
307
oI2t0| & 500,366 400,366 100,000
130,000 30,000 100,000|04 ©I2tSH AL & 2| Ef
oAl BHOIES S A 200,000,000 x 18 x 50% = 100,000




Z:(3000) A RINLH  2H:(3100) 54 AN H] 51 (3120) B4 A RIS HIEE: (3121) = A 2] HIHIEE: (220) X & ALY 2H][o9: e
i = J P! 2 5
Of &b of l @ o = p) x
X o B NIE . HIAIE = of A M| o= H o
308
XX S HIE 1,492,423 1,147,463 344,960
o1&
1,492,423 1,147,463 344,960|01 KX SHHMBALSES
O MEIE ML X LS RIKI2
80,0002 x 2,200 x 30% = 52,800
OXZOIZZURUASAHZR A
20,0002 x 25,000kg x 20% = 100,000
CUETI TE WAAIY
400,000 x 2,500 x 10% = 100,000
oUZ=Il HRMAD X
9,000,0002 x 50CH x 20% = 90,000
o4g LEMHET NI (SA) = 2,160
401
A&y e 1,800,000 0 1,800,000
CHH|
1,770,000 0 1,770,000{01 Al&H]
CIEQ MDA BERA HAS = 1,770,000
20,000 0 20,000(02 22t
CIIEQ MDA BERA HAS = 20,000




Z:(3000) A RINLH  2H:(3100) 54 AN H] &1 (3120) B4 AMAS HI&: (3121) S akpt2)] M AL : (220) KR AFES ERNELRED
i = J P =] 5
Of &b of l @ o = p) x
X o B NIE . HIAIE = of A M| o= H o
10,000 0 10,000/03 Al& S Ch]
CIIE MDA BERA HAS = 10,000
403
XX S HIE 1,473,090 873,860 599,230
=0l ™
1,473,090 873,860 599,230 (01 KX SHM A28 =
OBIRBABUC ALY
100,0002 x 20,0005 x 20% = 400,000
SUHABAIZRZTHHH ALY = 35,100
SZEA BIIAIL X 300,0009! x 2,000CH x 20% = 120,000
CUESIIHHEAZMA ALY
236,130,0002 - 252,000,000 = A 15,870
o=E ZESHD EAAY
100,000,000% x 222 x 30% = 60,000
3122 [= 13,138 & 298,677 Xl = 0]
IrEQMEe) 5,581,559 5,269,744 311,815 [Jl 0 = 0 ]
100
2 A0 A 4,737,014 4,699,854 37,160
110
o124 4,082,634 4,071,454 11,180
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Z:(3000) B ROKEHI  2H:(3100) 52 AJH ] 8t:(3120) B4 AEE NIgt: (3122) 0t S M 22 HIKIBt: (210) 8 E ALY EENEGR-E
ot = o o o Dl 5 2 3| N = ) =
.2 E NS AAE =2 of & M = B o
210 [= 13,138 & 5,579 Xl 0 o 0]
ERALS 432,040 413,323 18,717 [DI 0 = 0 0 ]
207
o PN 162,300 143,583 18,717
162,300 143,583 18,717/03 A& & 2 H
oAy A
(777€ x 7,2005) - 5,700,000 = A 105
(2) 675
(%) AT780
oA 2Rty HE = 33,551
(2) 26,491
(%) 7,060
oFtp| AA 1,200,000€! - 3,295,000 = A2,095
(2) A 1,550
(%) N545
CIIEEFHAAN Y HHAF(475)
15,489,000% - 13,347,000 = 2,142
(2) 2,142
o% DOI2E2R0tY ol
(1012 x 850,0004=) - 75,460,000 = 10,390
(2) 10,390
oXl QHAIYE 2EAY
(1,6802 x 9,8305) - 17,825,000& = A1,310




Z+:(3000) 2 HIONZHl  2:(3100) 54 &) 2 H] 5t (3120) B4 MAE HIEE: (3122) JH =S| M2t HIKIE: (210) 2 X AL ERNEGEED
ot = p, X 2 5
Of &b of l @ o = p) x
= 2 BHONIEE. HIAIE = of & | = H o
(=) A1, 154
(%) N 156
oY AA = A24,000
(2) A24,000
oXgai
(109,288,5002 x 0.8%) - 730,000 = 144
(=) 144
220
KHIAH 412,505 156,567 255,938
207
o1 Ol Y| 72,217 69,279 2,938
72,217 69,279 2,938/03 Al& o1 H|
CRMUEHRESE HUFY I
(20,0009 x 59821) - (20,0002 x 4682H) = 2,600
oRutd i It
(67591 x 1,50024) - (6752 x 1,00021) = 338
401
Al&HIYE 311,000 61,000 250,000
Chl
309,000 61,000 248.,000(01 Al&H]
ocABEA U HDME = 248,000
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& (3000) B HMOHEH]  2:(3100) == A0 EHH| & (3120) s =08 E HISt: (3122) 1= A2 HIAIEL: (220) XEMIAFS (2] [ 3]
ol s ) 8| 3 3
G & = 0 x
X2 E HE AN = W & | x oA o
2,000 0 2,000|02 Z¢2ldl
oplEal Y HIMHF 2,000,000& x 1A = 2,000
405
AHAEE S H| 21,268 18,268 3,000
21,268 18,268 3,000(|01 XA 2 EF SHI
cIJIFME=EE JIAM #+& 3,000,000& x 1&! = 3,000
3123 [= 19,826 &= 94,231 X 0o = 0]
M Ae2d 1,519,850 1,405,793 114,057 [l 0 = 0 0 ]
100
A0 & 390,893 387,893 3,000
120
2 A= 2| 244,820 241,820 3,000
202
0:0s] 94,300 91,300 3,000
51,100 48,100 3,000/01 2LHOIHI
S P E S L - 3,000
200 [= 19,826 & 91,231 X 0o = 0]
AbeL ol &t 1,128,957 1,017,900 111,087 [J] 0 = 0 @ 0 ]
210 = 19.8% % 1,031 X 0 2 0]
HERAS 703,482 682,425 21,057 [ 0o = 0 o 0 ]
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Z:(3000) B HMIJHEHI  2:(3100) === &KL HI & (3120) =4 E Mg (3123) =R MAARE  MAE:(210) EXAMY [E2E][ER: ]

=

ot =2 Dl 5 2 3|
G & = 0 x
.2 E NS AAE =2 of  Ab oM =
207
=l =T 190,852 169,795 21,057
190,852 169,795 21,057|03 Al& & 2H
oA ey AHX
(7772 x 58,0005 ) - 45,980,000 A914
(=) 1664
(%) A250
oA BR2MAX 24,441,0002 - 20,638,000 3,803
(2) 2,963
(=) 840
oFMP|AX 10,791,0002 - 3,394,000 7,397
(2) 6,392
(%) 1,005
CHXQMAIY 2EAIY
(1,6802 x 19,1702A) - 35,264,000 A3,058
(2) A2,694
(%) N 364
CIIESEHAAN Y HHAX(483)
83,678,0002 - 69,905,000 13,773
(=) 13,773
oXgArLR 670,000& - 614,000 56
(=) 56
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Z:(3000) B HMIJHEHI  2:(3100) === &KL HI & (3120) =4 E NIgH: (3123) NERAMIARSE MAE: (210)2EAS [E2E][ER: ]

ot =2 Dl 5 2 3|
of Ab o A = o] =
.2 E NS AAE =2 of  Ab oM =
405
XHAHE S| 496,630 496,630 0
496,630 496,630 0101 MY SEFSHI
o) SYAXE
(22,570,000 x 3CH) - 45,140,000 = 22,570
(2) 11,285
(%) 11,285
oXNSWSD = A22,490
(2) A11,245
(%) A11,245
ocAHARS2SEI|(ECH) = A 15,000
(=) 27,500
(%) AT7,500
o Xt ASI|(E Q) = 14,920
(2) 7,460
(%) 7.460
220
KERIAF 425,475 335,475 90,000
401
Al&H L 175,000 105,000 70,000
CHol

_13_
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X:(3000) 2 HINLHl  2:(3100) 4= AHH Y] 5 (3120) =4 MEE Mg (3125) a1 2 2= ab2te] HIAIEE: (120) 2 AH X 2 ) EEMEEERCE]
i = J P! 2 5
o oo o | o A = yl =
I 2 S MIE. NIMIE 2 O]l A oH = 3 o
3125 [2 8,551,120 & 2,431,176 X 0 & 1,500,000]
ot Qs Ab 24 39,348,184 26,865,888 12,482,296| [2| 0 2 0 o 0 ]
100
22 A A 264,560 249,560 15,000
120
AR A 264,560 249,560 15,000
202
o4 H 62,400 47,400 15,000
62,400 47,400 15,000/01 =2LHOIH
O ULL HRFA BEE = 15,000
200 [2 8,551,120 & 2,416,176 X 0 & 1,500,000]
AHS Ol A 39,083,624 26,616,328 12,467,296 [2| 0 = 0 o 0 ]
210 [2 8,551,120 & 802,556 Xl 0 & 1,500,000]
BXALY 33, 188,864 22,335,188 10,853,676 [ 0 =2 0 o 0 ]
201
B2 A Y| 20,400 14,400 6,000
20,400 14,400 6,000/01 LBred|
oASEIIMMOILHMAED LTI A X A
6,000,0002 x 100% = 6,000
(=) 6,000
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X:(3000) 2 HINLHl  2:(3100) 4= AHH Y] 8:(3120) B AEE Mg (3125) a1 2 2= ab2te] RIMIE: (210) B XA 2] [oe @]
i = J P! 2 5
Of &b of l @ o = p) x
a2 & NE L MAE =2 off &b oA = 4 ¢
207
o R ety 1,800 0 1,800
1,800 0 1,800/01 <]
CAEIMMALHSER AIH A (LA
1,800,0002 x 100% 1,800
(=2 1,800
308
XX ESH S 7,817,830 4,371,688 3,446, 142
ol
6,804,080 3,357,688 3,446,392 |01 XX S BABEZ
ocHIZMNAHERAEXEH
3,375,000,0009 - 1,995,300,0002 1,379,700
(=2 1,226,400
(< 153,300
o T MBl 2AUX|K(HACH 02 M)
190,500,000 - 259,500,000 69,000
(= 46,000
== 23,000
oUAE ST RARLI XA 164,000
(= 164,000

o UXIH&XMeldl K&
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Z:(3000) B ROKEHI  2H:(3100) 52 AJH ] 8t (3120) S5 AEE NIBt: (3125) 1 4= At HIKIBt: (210) 8 E ALY Crol: &9l
ot =2 o o o Dl S| 2 3| N = ) =
.2 E NS AAE =2 of  Ab oM =
22,500,0002 - 4,500,000& = 18,000
(2) 12,000
(=) 6,000
o ASI|MNUNMHCIAIY (HEH 0l A = 760,764
(2) 760,764
o ASI|MM UM HR|ALS = 305,045
(2) 248,539
(%) 56,506
©2005E 128 ZELYAZZYINET MAXA (LS HO
737,228,0009 x 100% = 737,228
(2) 737,228
CRFELNNET MAXNI(LSE A = 150,655
(=) 150,655
1,013,750 1,014,000 A250(08 JIEFRE 2
SJCE RSl
1,013,750,000& - 1,014,000,000& = A250
403
XRSHS 13,298,834 5,899, 100 7,399,734
=01
13,298,834 5,899, 100 7,399,734|01 MXISHH =22 X
o G OHE HI ALY
3,900,000,000& - 1,950,000,000 = 1,950,000
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X:(3000) 2 HINLHl  2:(3100) 4= AHH Y] 8:(3120) =34 E Mg (3125) a1 2 2= ab2te] MIAIEE: (210) 2 ALY EESMEERSE)
Bl. ==} —
= p X 2 5
- of & o ° n = ol =
I 2 S MIE. NIMIE =2 Of &b oM = & o - = -

(%) 450,000
() 1,500,000
oVHFR & A H| X 1,000,0002 x 11CH x 50% = 5,500
(=) 5,500
o $2ATHMHILEZ ML (LA 0AH) = 300,000
(=) 300,000

©2005E 122 ZHUAEZEZYNN=S (LS XA
3,534,889
(2) 3,534,889
SO0 = 43,035
(2) 43,035
- A APZ QA = 2,974,371
(2) 2,974,371
R AT E=T=IPN, = 273,852
(=) 273,852
R Y = 243,631
(2) 243,631
oltezeliy 800,000,000 x 70% = 560,000
(2) 400,000
() 160,000
O3 EIMNE R (LS EHIA) = 1,030,945
(=) 1,030,945
oXEBHUYMAZ 152,000,000 - 133,600,000 = 18,400
(=) 18,400
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Z:(3000) A RINLH  2H:(3100) 54 AN H] &1 (3120) B4 AMAS HIE: (3125) 5 24 b2t I HIEE: (220) X &l AL S 2H][o9: e
i = J P! 2 5
Of &b of l @ o = p) x
X o B NIE . HIAIE = of A M| o= H o
220
Xt AFE 5,894,760 4,281,140 1,613,620
207
ol I 100,000 0 100,000
100,000 0 100,000/01 |
oA YR ol 100,000
308
XX S HIE 722,560 423,940 298,620
o1&
520,560 339,940 180,620 (01 K XISHH P A E X2
oBtRAAAMAR =R
21,240,0002 - 10,620,000 10,620
OHFRIZHQEAI{ & HIAHIHZ 21|
300,000,0002 x 40% 120,000
oHIXlZt B AXZ 50,000
176,000 58,000 118,000(08 JIEt2 &2
COHYAXHZURY HRZA} 118,000
401
A&y e 3,040,000 2,000,000 1,040,000
CH |
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&:(3000) 2 MOHE I  2:(3100) s 4= AHEHI & (3120) FMEE Mgt (3125) 0l 2k 4= 4kl HIAIEE: (220) KR AFS 2[R A
nj; = J = = 5
oo oo | = @ & = ] =
X B M NS s W & | = Z oo
2,985,000 1,990,000 995,000/01 Al &t
o X203 H e - 995,000
55,000 10,000 45,000(03 Al S CHY]
o X203 H e - 5,000
cxpoiRA DHEX 0 2CHZY - 40,000
403
A SIS 1,464,400 1,289,400 175,000
X201
1,464,400 1,289,400 175,000 01 XA SH X 2L E
S0i24 HOHAl & 200,000,000 x 50% = 100,000
CANB MAIITAIL - 75,000
3126 = 0 £ 91,101 X 0 = 0]
SOV L 2,304,961 860,616 1,435,345 [J| 0 2 454244 D 0 ]
100
24 a0 900,321 649,916 250,405
110
o124 625,412 499,887 125,525
101
o121 625,412 499,887 125,525
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Z:(3000) B HMIJHEHI  2:(3100) === &KL HI g (3120)F4AE AIgt: (3126) = At 2t MIAIEE: (110) el 2] (=] dH]
ot = p, X 2 5
Of &b of l @ o = p) x
.2 HIE A = R -
366.608 281,608 85,000/01 7123
ollEZg 28 = 85,000
23,880 17,160 6.720|03 HAZ AL
CHUZAY| RER = 6,720
23,120 16,800 6,320|04 DEEXH|
CNEEXH BEE = 6.320
30,624 25,821 4,803/05 &SIt
cHHEI BEE = 4,803
55,033 43,033 12,000/08 7+ X &t
SIAXIY B = 12,000
32,049 21,367 10,682 10 LAIAIS QIR
SNEHASEEY A FY|
31,115,0002 - 20,744,000 = 10,371
oAl U BAXIRY
(31,115,0002! x 0.03) - 623,000 = 311
120
ZaRAY| 274,909 150,029 124,880
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Z:(3000) A RINLH  2H:(3100) 54 AN H] &1 (3120) B4 AMAS HIg: (3126) 2= akQi R 22 HIHIEE: (120) 2 AR 24| 2H][o9: e
i = J P! 2 5
Of &b of l @ o = p) x
X o B NIE . HIAIE = of A M| o= H o
201
B2 o Y| 193,670 96, 170 97,500
186,170 90, 170 96,000/01 LLreAt|
oty XL 20,980,0002 - 9,400,0008 = 11,580
cR2RR= 2EE 44,810,0002 - 26,360,0008 = 18,450
oUxiy BEZ 24,060,0002 - 5,400,0009 = 18,660
o2l BER 5,610,000 - 3,300,0008 = 2,310
oozl BE2 54,230,0009 - 24,230,0009 = 30,000
SANEFUISKH BEE
25,610,0002 - 11,410,000% = 14,200
oll =2l B=ER 1,600,0002-800,0008 = 800
7,500 6,000 1,500(02 A2 2]
oEOX YR
(500,000 x 6CH) - 1,500,0002 = 1,500
202
01| 22,300 14,300 8,000
22,300 14,300 8,000/01 =LH0iH|
oAMAHD AURRX BER = 8,000
203
AP EXY 6,910 3,330 3,580
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Z+:(3000) Z MIOHEHl  2:(3100) s ==AHH 2| & (3120) B AEE MIgh: (3126) = 4td R 2g| HIAIE: (220) REAIAHS el &R ]
nj; = J = = 5
o A o | = 3l At 2 o] =
&2 S NS AAE = of A& o = &3 %
220 [= 0= 730,696 X 0o - 0]
A AHS 1,404,640 219,700 1,184,940 [JI = 454,244 1) 0 ]
206
M= 8l 163,940 144,000 19,940 | ool =AlE 2 UE L M2 2L S = 30,000
CEMNE XHYFR(55)

49,940,000& - 60,000,000& = 210,060
< A3,018
= AT,042

207
) =] 100,000 0 100,000
100,000 0 100,000|03 Al& & 11|
o MBS YAIHE AL (HIOI2IA, THol HAF S) = 100,000
401
AEHIE R 1,065,700 65,700 1,000,000
CHHI
1,045,000 65,000 980,000|01 Al&HI
SAEE SZMEA = 980,000
[ 528,714
& 451,286
20,700 700 20,000/03 Al&SCHYI
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ZH:(3000) ZMNHl  2:(3100) 52 AH Y] 8 (3120) 4 MRS HIgt: (3126) 2= Atol R 22 HIKIZ: (220) KR AFES CEENEER-ED
i = J P! 2 5
Of &b of l @ o = p) x
= 2.8 MIE HIMIE = of A ) = AH o
o ASE SHHIMLAIY 20| = 20,000
(%) 10,000
(2) 10,000
405
KHarE =4 75,000 10,000 65,000
75,000 10,000 65,000 01 KtAIL SZH =H|
SO RAAZHE HYAREE 29 = 40,000
o2g X P = 25,000
M = 8 A 65,441,256 46,855,877 18,585,379
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